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3.395A 9 9,444 9,494 -50
1548 200 200 0
1. %548 200 200 0
1. &) 200 200 0
2. Qs 9,244 9,294 -50
1.8 g 13kA ¢ 9,244 9,294 -50
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4. 2801 FhA 11,851 10,328 1,523
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1.2 44 % 1,800 1,800 0
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1.8t 7 £ 17,950 18,570 -620
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2. A1 A {74 86,557 85,142 1,415
1. 3P A A g u] A 86,557 85,142 1,415
1. 3T e eANTHF 15,154 16,942 -1,788
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A ERET]] 0 779,000 %13]= 779,000
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6.4 &< 3,600 3,600 0
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171 AI R A 1A m 11,773 12,133 -360 | E| A5 -89,000¢*13]= -89,000
AZFRAR] ¢ -271,0009%13]= -271,000
2. 871 A P AT 590 590 0
8. A1 T 21z 23,553 20,405 3,148
1. 717 A A A Q11 H] 22,392 18,549 3,843[171] @ -89,000*13]= -89,000
(B EA_45F)070] 1 1,820,000 2= 3,640,000
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1.2 uk5= g 200 200 0
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1.du)n] 0 0 0
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